MIAM FDADE MIAMI-DADE COUNTY, FLORIDA
I METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Awnings, Shutters & Screens, Inc.
1631 S. Dixie Hwy. Bldg. D-1
Pompano Beach, Florida 33060

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: ASSA / Extruded Aluminum Bertha Bahama Shutter

APPROVAL DOCUMENT: Drawing No. 02-548, titled “ ASSA / Extruded Bertha Bahama Shutter ”, sheets 1
through 8 of 8, prepared by Tilteco, Inc., dated November 20, 2002, last revision #1 dated November 20, 2002
bearing the Miami-Dade County Product Control Revision stamp with the Notice of Acceptance number and
expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 00-0605.10 and consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.

NOA No 03-0224.08
Expiration Date: 08/22/2003
Approval Date: 05/08/2003
Page 1




2.500"
402"

—

[—~.120°

r- ——

9 sy
R.204"
L

. 702'I

8
;
r

1.562~

f—1.160"—j

».168"

r )

5
—

1.892"

:!

——1.362

f—1.160

|

a5~ |—
—1, 190"

@) REGULAR INTERIOR MULLION

6005-T5 Alum. ALLOY
SCALE: 1/2°

= 1"

COMPONENTS

1,322 el
"1 062"

-

RI43"°

2.337*

.mo"——l r—

R.250"
R.405"

2.969"
J.J74"

.080 "—-J

(D) FLAT FEMALE HINGE (E) BAHAMA MALE FRAME
SCALE: 1/2" =

= 7*

SCALE: 1/2"

. 190°
. 146"

057"

|
1. 190"—]

42 HEAVY INTERIOR MULLION

6005~T5 Alumn. ALLOY
7=

SCALE: 1/27 =

458"

l—.080"

SCALE: 1/2* =

-

HOLES ARE OPTIONAL

(E) SNAP CAP

-

j~——1.443

Joz2*

.068"°

FEMALE HINGE

= 1"

080"~

7.989'———;1

2.374"

I RASE A

i}

i

2,908

SCALE: 1/2"

f=-.080"

2.337™

—.080"

8. 0. FEMALE HINGE
1/2% = 1°

@ 7u

SCALE:

-~ = 187"
r——

~l-——1.500'————]—l
———

2.000"
87—

BAHAMA FRAME
SCALE:

(—.062"

563°

W
1 [-.2.1.5'

731"

3223™

3.688™

~—.062"
)

6.000™
7.039"

g
1. 125!

HALF SHUTTER
BLADE . 1y

SCALE: 1/2" = 1"

"]

2.000

.
8
[+

— 1. 125

3725
455

(J) SHUTTER BLADE
SCALE: 1/2" = 1*

——1.386"

SHUTTER BLADE ELEVATION

SCALE: 1/2° = 1"

F—1.322 "t

12" = 1"

S ) |
— .

-l L—.1&7'

f— 187

—

2.000" |

(H) CORNER KEY (N) WALL MOUNT
1" LONG Alum. BRACKET

SCALE: 1/2" = 1 4" LONG
SCALE: 1/2" = 1*

3.000"

T

3.000°

v |-

BUILD-0OUT
Alum. BRACKET§

SCALE: 1/2" =

=1 125°

3.000"

187" |-

4.000"

R

4" LONG
7‘

—.250"

® suiLD-oUT
SIDE BRACKET
4" LONG

SCALE: 1/2% = 1"

GENERAL NOTES:

1. BAHAMA SHUTTER SHOWN ON THIS PROOUCT APPROVAL DOCUMENT (PA.D.) HAS BEEN DESIGNED /N
ACCORDANCE WITH THE 2001 EDITION OF THE FLORIOA BUILDING COOE.
DESIGN WIND LOADS SHALL Bf DETERMINED AS PER SECTION 1619 OF THE ABOVE MENTIONED CODE, FOR A

BASIC WIND SPEED OF 146 m.p.h.. AND IN ACCORDANCE W/ ASCE 7~398 STANDARD.

BAHAMA SHUTTER'S ADEGUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH
SECTION 1806.1.4 OF THE ABOVE MENTIONED CODE AS PER ATL TEST REPORT f 0823.01-37 AS FER PA-201,
PA-202 & PA-203 STANOARD.

2. ALL ALUMINUM EXTRUSIONS SHALL BF 8083-T8 ALLOY (UNLESS OTHERWISE NOTED).

JALLSCREWSTOBES"AINLESSSTFELJG‘ORJIUSERIESW/SOdeﬂDPOINTANDWHmf
STRENGTH OR CORROSION RESISTANT COATED CARSBON STEEL AS PER DIN 500

4. ALL ALUMINUM POP RIVETS TO BE 5052 ALUMINUM ALLOY WITH ALUMINUM MANDREL.
5. BOLTS TO BE Z024--T4 ALUMINUM ALLOY GALVANIZED OR STAINLESS STEEL WITH JS kai MINIMUM YIELD POINT.

6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TD EXISTING POURED CONCRETE:

— 1/4" # TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX OR ELCO TEXTRON

~ 1/4" 8 x J/8" CALK~IN ANCHORS AS MANUFACTURED BY THE POWERS FASTENING, INC.

NOTES:
A1) MINIMUM EMBEDMENT OF TAPCON ANCMORS INTD POURED CONCRETE 1S 1 1/2"

A.2) CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE.
NO EMBEDMENT INTO STUCCO SHALL 8E PERMITTED.
1/4° #-20 SCREWS USED SHALL BE ! 1/2° LONG MINIMUM SHOULD STUCCO EXIST AND 1° MINIMUM FOR WALLS

WITH NO STUCCO.

A.J) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL
OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TD REACH THME MAIN STRUCTURE BEHIND SUCH PANELS.

ANCHORAGE SHALL BE A5 INDICATED ON NOTES A1) & A2) ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL: :
~ 1/4" 8 TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX OR ELCO TEXTRON
- 1/4" 9. x 7/8" CALK—~IN ANCHORS AS MANUFACTURED 8Y THE POWERS FASTENING, INC.

NOTES:
8.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO THE CDNCRE'E BLOCK UNIT SHALL BE 1 1/4"

8.2) CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO
STUCCO SHALL BE PERMITTED. 1/4" #-20 SCREWS USED SHALL BE 1 1/2° LONG MINIMUM SHOULD STUCCO
EXIST AND 17 MINIMUM FOR WALLS WITH NG STUCCO.

8.J) IN CASE THAT PRECAST STONE OR PRECAST CONGRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS
SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEMIND SUCH PANELS. ANCHORAGE SHALL BE AS

INDICATED ON NOTES B.1) & B8.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE
ANCHOR'S MANUFACTURER.

7. EACH SHUTTER SHALL HAVE A (EGIBLE AND READILY VISIBLE MARKING INSTRUCTING OWNER OR TENANT TO
SECURE SHUTTER WITH SIDE & SILL BRACKETS OURING PERIODS OF HURRICANE WARNINGS.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TD VERIFY THE SOUNONESS OF THE STRUCTURE WHERE
SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE.

3. (A) THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) PREPARED 8Y THIS ENGINEER IS GENERIC AND DOES NOT
PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT: i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE PAD.

(8) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION OF THIS PRODUCT
BASED ON THIS PRODUCT APPROVAL PROVIDED HE/SHE' DOES NOT DEVIATE FROM THE CONDITIONS DETALED ON
THIS DOCUMENT.

(C) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(D) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL
BECOME THE PROFESSIONAL GF RECORD (P.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE
PROPER USE OF THE P.AD. PROFESSIONAL OF RECORD, ACTING AS DELEGATED ENGINEER TO THE PAD.
ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(E) THIS P.A.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER THAT
PREPARED 1T.

10. SHUTTER'S MANUFACTURER STAMP SHALL BE PLAC]
EXPOSED SURFACE OF THE BAHAMA FRAME @ OR
ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
LABEL SHALL READ AS FOLLOWS:

AWNINGS, SHUTTERS & SCREENS, INC.

POMPANC BEACH, FLORIDA

MIAM|-DADE COUNTY PRODUCT CONTROL APPROVED.

ON THE

PRODUCT REVISED

as complying with ¢
Buiding ¢ g ke Fiorida

Acceptance No 03-022.

F. 8. C. (HV.HZ) / MAMI—~DADE COUNTY

AS SHOWN

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER SCALE

11/20/02

SCALE:

l——-z. coo '—J

SILL ANGLE

—" i—-. 125°

/TLIEC O me. \

OATE

AWNINGS, SHUTTERS & SCREENS, INC.

(ASSA # 15)
1631 5. DIXIE HWY. BLDG. D—1

-1+ FEB1 4 2003

C 9»-51@)‘ «uig{:mnm & ENGINEERING COMPANY
8595 N. &th, St., Ste. 217, VIRGIMA GARDENS, FL
(305)871-1530 . Fax . (305)871—1331

£8~0006719
WALTER A
FLORIDA Lic. # 44167 2 = -

02-548

DRAWING No

POMPANO BEACH, FLORIDA 33060
ORIDA 23786

DESCRITION DATE REV. Mo DESCRPTION DATE

3 - -
4 - -

TILLIT Jr., P. E ! D 48 ~ 220 pi/20/02 SHEET 1 OF &8




Bc/s or 05 0r £/3

. @GR
©«q

BDc/3 or 0/3 0r £/3

J/IE # POP RIVET O
§° 0. C. (1 PER BLADE)
O REAR ONLY

£ 0. i
(2) CALK—IN ANCHORS
(SEE SCHEDULE ON

SHEET 8 OF a)—\

POURED CONCRETE
OR CONCRETE BLOCK

RE QUIRED 7

1/4 #—20 RIVNUTS W/
1/4" 8~20 x 1° 55.

S. @ 3° 0.C. VERTICALLY

1/2° EDGE DISTANCE

(Typ. AT EACH BRACKET)

(2) 1/47 #-~20 RIWUTS W/
(2) 1/4° #-20 x 1° 5.8,
M.S. © 3" 0. C. VERTICALLY
W/ 1/2" EDGE DISTANCE

10 x 1 1/2 5.5

OF & BOTTD
(Tvp. AT EACH ERACKET)

-] a o a ¥ Q ] Q /
/ 1 777
[1 L, { r— ]7/4
L 5
¥ o , - ——
®+@_ ; == 7
® RO [] / (W(’g x 1172 ”
®rO wiDSPa, A7 SIDES / Sils’ o ol fon *Q s
REQUIRED AT (SEE SCHEBULE FOR f 4
gg‘g"(”s'ggr REQUIREMENTS) or(J) .
SCHEDULE FOR FOR_TRAPPE) = (SEE SCMEDULE SEE_DETAIL 275 —, Q —— SEE DETAIL 275 ——
REGUIREMENTS) INSTALLATIONS FOR_REQUIREMENTSY /[ 2 SECTION A-A
N / N A~ g AN 7 \ 4= ~_ _ OUT SIDE GRACKET
. Fr =\ 4 N FOR TRAPPED . . g
e - // ’g: o] ) B !/ <=k ‘5: o IeALLATIONS (WALL MOUNT) SgAl;JE 2 3/8 1
aijjl o 7/ o il a / H \ | } a ? 1 ° -& L.
i { / S RN S G S o | pouren concrere
—\C -~ . -~ - sweer 8 oF ) \[]] 9F CONCRETE BLoC
ﬁv\ ~ REOUIRED7
v,
he 7 / =i < ~ % %
A DR Al 77 /L A OR A1 A OR A1 OR B 2 LER égUR(Eyax ////////////A’f//////l//%
OR & / / OR B A ORIA :Iur{ ANGLE (Cont.) T
S 7/ NN OR B N (6063~T8 ALLOY) /47
7 / - NIT™~—®@ @
// /L (1h14 x 3 J4 S5 [H—
// // 2"
- A - - A -
r1 A / - ~Y o A ) =
L Lol / = ! :\; e el 4 R BHES »r@
Q Q ] / e e T e

ALTERNATIVE

®orO

CORNER BRACKET!

LOCATION

&"__‘,]

B+@ &

D c/3 0r /3 oF £

W SEE SCHEDULE

(4) 3/16" & Aum.
POP RIVETS TOP/BOTTOM

FRONT/REAR

W SEE SCHEDULE

N) or

W SEE SCHEDULE

UNLIMITED WIOTH

MULTIPLE UNIT

ar

@

ELEVATIONS

(F10 x 1 1/2" SMS. FOR@

GHG

L ®or®

ALTERNATIVE —
@ on @ comner Dc/3 or D/3 or £/3 SECTION B-8
BRACKET LOCATION| W SEE SCHEDULE (BUILD~OUT) SCALE : 3/8" = 1~
SEE DETAIL
@ or (0) . NOTE:
2) 1/4° #-20 x 2° S.S. E D =3 1/27
SINGLE UNIT 25 3o 2:5 3 (7 b 4
WING NUT @ 3" 0, C. :
VERTICALLY W/ 1/2" EDGE
DISTANCE TOP & R0TTOM
(Typ. AT EACH BRACKET)
(1)f10 x 1 1/2" S.MS.
{ TYPICAL AT / (2) CALK—IN ANCHORS
EACH CORNER. T / (SEE_SCHEDULE ON
L 7] SHEET 8 OF §) PRODUCT REVISED

/—- (110 x 3/4" S.M.S.
| ®+©

(1)#10 x 3/4; 5.M.S.

1)f1a0 1. 1/2" §.S.
CH s RS

SECTION A7

|
N
NN

N
N
]'—4-—»«-——] b

Qbo”@ ‘ v

N
\
.

]  POURED CONCRETE
OR CONCRETE BLOCK
YREGU/RED

- Al

(FLOOR/CEILING MOUNT)
SCALE: 3/8" = 1"

as complying with the Fj
Buiding Code orida

Acceptance No63— 0 2.7 .0f
Expiration Date © 3

Miami Dg

uct Co
Division ntrol

L
X = oF
R EB NOTC R = ==
I \@Oﬁ@;!o/ 1160~ Demey X A (2) cak-v ancrors F. B C (HVHZ) / MIAMI-DADE COUNTY
=) A [105155%%}??/? INTO 7=\ =) (Typ. EA. BRACKET)
\__ \_) LL $_) S ) AS SHOWN
NG f S (1410 x 3° SMS W wasien f ASSA / EXTRUDED BERTHA BAHAMA SHUTTER SOALE
Typ. TOP & SBOTTOM.
N / » 11/20/02
(10 x 1 1/2° Sus. AWNINGS, SHUTTERS & SCREENS, INC. DATE
OR . .
OLIC L (. & BRACKET) / |ILIECOINC \\ (4554 ¢ 35) '
— 3* ! ! 3" ! TILLIT TESTING & ENGINEERING COMPANY POAND T . et 02-548
1/2 1/2 1/2" 1/2" 9 o é ;Dt Z D  J0th. St Ste, 217, WRGNA GARDENS, AL ORIA 33168
D E TA /L 7 i * (MMEA‘Z?D[,-?;Q' ©o% RLV. Mo CESCRIPTION DATE | REV. Na DESCRPTION DATE DRAWING No
] =
e FEB 14 2003 e LT 4 e L2 e p—— . e




POURED CONCRETE

REQUIRED
TAPCON ANCHORS

(SEE SCHEDULE ON

SHEET 8 OF 8) —l

C

E D

NN\

g

NN

:/— EXISTING GLASS

!

I

!

x

|

4

|

!

|

|

! ?
|

ALTERNATIVE LOCATION
FOR ®

]
Ld N
QOURED CONCRETE =
R

CONCRETE BLOCK
REQUIRED

C2=
(1) 3/8" RED HEAD —7

SLEEVE ANCHOR W/
1 1/2" Min. PENETRATION

W\

NN

AN

Cont,

FEOA (1) TAPCON ANCHOR
4 N\
rd N,
A
[__Il ) Cont. @

1/4° #-20 x 2" LONG BOLT

Cant. 6

I Pt
I
I
L

4
!

SO (1) TAPCON ANCHOR Cont.
4 \\

/
B il |

M

T —
¥
[
i
4

L
POURED CONCRETE
OR

»
CONCRETE 8LOCK  /
REQUIRED
C 1=

J* Min

(1) 3/8" RED HEAD —/
SLEEVE ANCHOR W/
1 1/2" Min. PENETRATION

1/4° 8-20 BOLT W/NUT

. N\
\
(L) o exch ms N
& MULLIDN \
1/4" #-20 THUMB SCREW
1/4° #-20 BOLT W/NUT

SECTION C ~ C  (waLL MoUNT)

OPEN POSITION (74 m.p.h. WIND SPEED)
SCALE: /8" = 1~

!
| EXISTING GLASS
] /_ ALTERNATIVE LOCATION
FOR @
d

(2) 3/16" # Alumn.
POP RIVETS

1/4" #—20 THUMS SCREW

1/4° #-20 BOLT W/NUT

POURED CONCRETE
REQUIRED

TAPCON AN$

(SEE SCHEDULE ON

0 OR @ Cont.

ﬁ\
@

i 1/4"—]
I
l
l
!

|— ser scHEDULE ON —]
SHEET 8 OF 8 FOR Min.
] SEPARATION TO GLASS

J

A

)\
—~

2l

!
!
!
!
!

(3)f10 x 1
5.5, S.M.S.

LOCATION \ 5

AR
© EACH JAMB \ \

& MULLION \
LOCATION WD

ALTERNATE

©

77777077
ooon

POURED CONCRETE
OR

CONCRETE BLOGK
REQUIRED

L
s ] Z)
- é w

o

1/2*

(SEE SCHEDULE ON

SHEET 8 OF 8)

SECTION C — C (waLL MOUNT)

HURRICANE POSITION
SCALE: 3/8" = 1"

SECTION C' — ¢’

OFEN POSITION

SCALE: 3/8" = 1"

050" (Ty,
L¢E
775° '

(&) .875” SERRATED TUuBE (L) 1" SERRATED TUBE

6063—~T6 ALLOY
SCALE : 3/8" = 1”

(WALL MOUNT)

POURED CONCRETE

REQUIRED

SHEET 8

AN

TAPCON ANCHORS N

(SEE_SCHEDULE ON

OF 8)

C=

N
>
E D

i

EXISTING
Gl

TN

. t
| i 1 3/18"

!
!

= SEE SCHEDULE ON —i
SHEET 8 OF 8 FOR Min.
'SEF'ARA”DN T0 GLASS

I

2" x 3" Max. x .125"°
Cont. Alum. 8 0. TUBE

(6063-T6 ALLOY)
Cont POURED CONCRETE \ \
REQUIRED ]
TAPCON ANCHORS \ A
(SEE _SCHEDULE ON \ N
cont SHEET 8 OF 8) "l 7
EN__. 9 i -3
Cont. \ ‘g
o 4 \ n
9 E D \
AN

E J 318"
|

|

V~ EXISTING GLASS

'—————S[E SCHEDULE ON —————mree]
SHEET 8 OF 8 FOR Min.

SEPARATION TO GLASS

()14 x 3/4" 55
S.MS. 0 5" 0.C.
Cont.
Cont.
Cont.

-

-

!
|
!
!
I
|
!
!
I
J

POURED
CONCRETE

BLUCK
REQUIRED

(2) CALK~IN

ANCHORS /BRACKET
(SEE SCHEDULE ON
SHEET 8 OF 8)

OR CONCRETE [/

s
_/

4
4

]
!
1
!
|
|
I
|
] ALTERNATIVE LOCATION
| FOR

|

|

|

| £

1

SECTION D - D

HURRICANE POSITION

SCALE; 3/8" = 1"
=~
A} )

B [

S

OUTSIDE ARM
5063~T8 ALLOY
SCALE : 3/8" = 1*

Alum. CLOSURE ANGLE
(6083-16 ALLOY) W/
J/16" # Alum. POP RIVET
@ 12°0.¢C 10

. 085" —~||~—

3 EERSE -
SRR
r,_J - T

{
= TAPCON ANCHORS
C.

\ e 70
(f10 x 1 1/2"
5.5 S.M.S.

POURED CONCRETE

OR

CONCRETE BLOCK /
REQUIRED

2% x 3" Max. x 125"
Cont. Alum. B. 0. TUBE

“x 1" x 125" Cont.

L(J)ﬂa x 1 1/2° 5.5 SMS.

—— ..J

Z

NN

D\

NN

(606376 ALLOY)

(BUILD—0UT)

E J—— 7.75{7'—l

E—.12.5'

250"
-,

SECTION £ - E

HURRICANE POSITION
SCALE: 3/8" = 1*

187'vl

(M) CAMEL BACK HINGE

J003-H14 Alum. ALLOY

SCALE : 3/8% = 1"

1" % 1% x 125" Cont. Alurn.
CLOSURE ANGLE (8083-T8 ALLOY)
ALLOY) W/ 3/16% # Alum,

POP RIVET @ 12" 0. C. TOG)
(2) 1/4" #-20 x 1 SIDE WALK

BOLTS INTO LZ) 4" 8-20
RIVNUTS EAC.

(1)f14 x 3/4" 5.8, S.M.5.

(BUILD-0UT)

PRODUCT REVISED

as complying with the Florida
Buiding Code
Accepiaace No O3~ o
Expiration DateG

F. B. C (HVHZ) / MIAMI~DADE COUNTY

NOTE.
E D =
Min.

3 12"

FEB 1 4 2003

/ TiLIEC O me. \

TILLIT TESTING & ENGINEERING COMPANY

8595 MW, JSth. St, Ste. 217, VIRGINIA GARDENS,
gne : (J0S)871-1530 . Fax : (JO3)871-1531

£8-0006719
TER A TILLIT Jr, P. E.
FLORIDA Lic, § 44167

FLORIDA 33168

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER | S SHoMN
11/20/02
AWNINGS, SHUTTERS & SCREENS, INC. DATE
(ASSA # 35)
1631 S. DIXIE HWY. BLDG. D—1
POMPANO BEACH. FLORIDA 33060 02-548
RAEY. Ne DESCRIPTION DATE REV, Ne DESCRIPTION DATE DRAWING Na
1 oD 94 - 220 11/20/02 : - - SHEET 3 OF 8
Py ~ = = -




+©®

POURED CONCRETE

REQUIRED
p s 3) or \
AUV ARSI AV
/ AN
/ AN .
[ A N
@ + @\ ] N ~7
/ \
/ AN /
[ N /
REQUIRED /
; IrD hf:ga%a/_v AT I] REQUIRED
SCHEDULE FOR | / Sioes (see screouLE
> AR 9 FOR REQUIREMENTS) g
~7 R~ g
o \\ o \\ %
- 7
G/5 -] ~ G/5 -
A ™~ 2
g
N N
A
/\ .
AR\ pom]
s P — =t S RS IR
1 Q Q o \ o u ' o -] o o \’
////(//////// //é)/ /1 /_/L/./_/_{L/_/_/_Z/)(-/
+ NOTCH 2 1/2° WIDE x 2 7/8" HIGH
W F/ 5 iU LLlng Df oAmNglafv AT EACH INTERIOR SEE DETALL 1
W (SEE SCHEDULE) W (SEE SCHEDULE) W (SEE SCHEDULE)
: UNLIMITED WIDTH

(4) 3/16" 8 Alum.

FRONT/REAR

POP RIVETS TOP/BOTTOM

MULTIPLE UNIT

(1)#10x 1 1/2° SMS. ran@

Oor @ Typ.

ELEVATIONS

N T s

Dr/s

POURED CONCRETE

«®

REQUIRED —mrmmmsnmy

SO NN NNV VWA NN LY
i

7 /) or

GHONY ~ 2OLIO)
REQUIRED /

AT MIDSPAN AT 14 .
S EP e Fom REQURED |
REQUIREMENTS) — e AT MIDSPAN AT [
A _7252'_.@&_!4%__5 | | P\ SIDES (SEE 3
A7 —XZ ] R Redumeuents) &
o ! { a %]
= IR Y ™
S-S ! Y 8
G¢/5 -1 ~ G/5 .
% g N % ;
&

AN N
/S ////////////%//
ﬂp £/5 +©
W (SEE SCHEDULE)

(Df10x 1 1/27 S.MS.

/(1) 10 x 3" SM.S.

W/ WASHER

@

W/ WEB NOTCHED
10 1.160" DEPTH
TO PENETRATE INTO
HEAD AND SILL.

Typ. TOP & BOTTOM.

DETAIL 1

SCALE : 1/2" = 1"

\— 1/4” 8--20 SIDE WALK
OLTS INTO RIVNUTS EA.
@ 12 0 C

x 17

TYPICAL AT

EACH CORNER.

FEB 14

I | (1410 x 3/4” Sus.
| —©+®

()10 x 3/4°

S.M.S,

SINGLE UNIT

PRODUCT REVISED

as complying with the Florida
Buiding Code

Acceptance No 03~07 2

F.B. C (HV.HZ) / MAMI~DADE COUNTY

/T

ILIECO.NC.\

TILLIT TESTING & ENGINEERING COMPANY

AW, J5th. Si, Ste. 217,
Phane

2003

FLORIDA 33166

7, VIRGINIA GARDENS,
(308)471-1530 . Fax : (308)871-1531

£B-0006719
WALTER A. TILLIT Jr., P. E

FLORIDA Lic. # 44167

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER | = #5 ZHomy
11/20/02
AWNINGS, SHUTTERS & SCREENS, INC. DATE
(ASSA # 35)
1631 5. DIXIE HWY. BLDG. D~1
POMPANO BEACH, FLORIDA 33060 02-548
REV. Mo CESCRIPTION DATE | AEV. Ne DESCRIPTION OATE DRAWING No
[} oD 98 - 220 11,/20,/02 j - = SHEET 4 OF 8




POURED CONCRETE
REQUIRED

TAPCON ANCHORS N

T——'E D.
(SEE _SCHEDULE ON J!

SHEET 8 OF 8)

EXISTING

GLASS-——\

.

!
!
!
I
l
I
!
|
|

|

l

|

——SEE SCHEDULE ON——]
SHEET 8 OF & FOR

Min. SEPARATION
I 7o cLass

\@ OR @ Cant.

T v
J
|
| 1447 #-20 RIYNUT ©
0. C W/ 1/4" #~20

Ix 2255 '} 5. FULL
|LENGTH (LOCATE ALWAYS

AT LEAST TWO 8OLTS 1*
|AT EACH SIDE OF INTERIOR
| MULLION._ SEE ELEVATION | |

ON SHEET 4 OF 8 FOR
|BoLT LAYDUT)

r

\@ Cont.

| s e ¢

f Cont.

:’I @\[:jé::
|

3

77

POURED LK—IN ANCHDR’S
CONCRETE EC SCHEDULE ON
REQUIRED .S'HEET 8 aF 8)

,,4//////

+———-Eo

SECTION F — F (FLOOR/CEILING MOUNT)

HURRICANE POSITION
SCALE: 3/8" = 1"

(2) 1/4" #-20 x 2" S.5.

MS. W/ 7/8" x J/JZ

WING NUT @ 3° 0,

VERTICALLY W/ 1/2° EDGE'

DISTANCE TOP & BOTTOM

(Typ. AT EACH BRACKI:T)—\

2

Q

O=@
s 4

—l 34" 14

1

e
4

\\\\\\\\\\\\\Q

o

SECTION G -

1=

G

(FLOOR/CEILING MOUNT)

HURRICANE POSITION
SCALE: 3/8" = 1*

NOTE:
E. D
Min.

=3 1/2"

£ 0.

Y REQUIRED

(2) CALK~IN ANCHORS
(SEE SCHEDULE ON
SHEET 8 OF &)

POURED CONCRETE
OR CONCRETE BLOCK

N
N) o (©)
5
S
Ly |
(2) CALK~N ANCHORS
(Typ. EA. BRACKET)
(
® )
N

DETAIL 2
SCALE : 1/2* =

»

14’2{':. 1:

= s RN
!
__________ 10 x 1 1/2" S.M.S.
e S s
:::::::::::::/K/:::::‘:::::::::::“] 11
TR

(2) CALK~IN ANCHORS
/ (Typ. EA. BRACKET)

(2) 1/4" #-20 x 2" S. S,

N
e 1
I

el

DETAIL 3
SCALE . 1/2*

= ’”

M. S W/ 7/8" x 3/32"
WING NUT @ 3° 0. C.
VERTICALLY W/ 1/2° EDGE
DISTANCE TOR & BOTTOM
(Typ. AT EACH BRACKET)

PRODUCT REVISED

as camplying with the Florida
Buiding Code
Acceptance N
Expiration Date O

Division

F. B. C. (HV.HZ) / MIAMI~DADE COUNTY

FEB 14 2003

/ I|LIEco..c.\

TILLIT TESTING & ENGINEERING
5 NW. J5th. St Ste. 217, VIRGINA

GARDENS,
Phone : (305)871-1530 . Fax : (305)871-1531

EB-Q006713
WALTER A. TILUIT Jr., P. E
FLORIDA Lic. f 44167

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER | *° SHOWN
11/20/02
AWNINGS, SHUTTERS & SCREENS, INC. DATE
(ASSA # 35)
1631 S5, DIXIE HWY. BLDG. D~1
COMPANY
COMPANY POMPANG BEACH, FLORIDA 33060 02548
REV. No DESCRIPTION DATE REY. Na DESCRPTION DATE DRAWING No
. e LUk B - —| SHEET 5 OF &




1/4° 8 x 3" LONG
A LAG SCREWS © 6” 0. C.

L ! W 1 1/2° Min. PENETRATION
% TO EXISTING WOOD HEADER.
1
/ B) cont.
/| S
1
/ F Cont,
% )
/ 3 E Cont,
L )
/ oR @ Cont.
WOOD HEADER |REQUIRED
30" Mdx,

/— EXISTING GLASS -

EXISTING GLASS
N

1/4° 8 x 3" LONG

LAG SCREWS 9 6° 0. C.

W 1 1/2° Min, PENETRATION
TO EXISTING WOOD HEADER.

B Cont.

1/2°

Cont.

/ 1

/]

¢

L1

g

%

1

0/ \/

“ WA i

dEAESS

- 1/47—
WOOD HEADER
REQUIRED

=-SEE SCHEDULE-
ION SHEET & OF &

-
’_____.—© Cont.

\@ OR @ Cont.

Max. SPAN 1>

Cont,

Cont.

Cont,

FOR MINIMUM
ISEPARATION
A 10 GLASS
—h—
A A
L Y A\
v N ¥
J ) cont. (2) 3/16° ¢ Alum.
POP RIVETS
cont. (G Cont. /©
\\
(=1 “
% _ _z =
9 3 < g . =y
/ N \\ @ Cont. -
\\\ !'-AQJ / tT
/] \\ ] {‘J
Le)
L/ L) @ AcH uue &«
% <o W MULLION LocaTion /] .
A
L/ L 1/4" 9-20 THUMB SCREW ; o
o
/| 1/4" #-20 BOLT W/NUT | melimes ©
X (1) 1/4" # x 3" LAG SCREW © L/ ‘( ﬁ
WooD STip EACH STUD (MIDWIDTH OF STUD, ;
0 24" 0. ¢ 2" Min. NOMINAL) AND W/ 1 1/2" Min.
REQUIRED PENETRATION INTO EXISTING STUD.

OPEN POSITION DETAIL : (74 m.p.h. OR LESS WIND SPEED)
SCALE: 3/8" = 1"

EXISTING GLASS
(2) 3/16" # Alum.
POP RIVETS

1/4" 9-20 8OLT W/NUT

()10 x 1 1/2°
5.5. S.M.S.

(2) 1/4" 8-20 ELCO
male/fermale PANELMATE
W/ 1 7/8° MINIMUM
PENETRATION AT MIDWIDTH
OF EXISTING WODOD PLATE

ALTERNATIVE 1

HURRICANE POSITION
SCALE: 3/8" = 1"

B

SONSNNESSNS

/4" 8 x 3" LONG

LAG SCREWS @ 6° 0. C.
W1 1/2% Min. PENETRATION
TO EXISTING WOOO HEADER.

Cont.

EXISTING
GLASS

f>—SEE SCHEDULE—{
ON SHEET 8 OF 8
FOR MINIMUM
SEPARATION

70 GLASS

\@ OR @ Cont.

Max. SPAN 1*

o

ar’/
2
/
[/
L/
/| wooo st
V| Reimes ©
A
ALTERNATIVE

= 1" x 1" x .125" Cont,
Alum. CLOSURE ANGLE

\— (D10 x 1 1/2° S.5. SMS.

(2) 1/4° #8-20 ELCO male/famale
PANELMATE W/ 1 7/8" Min,
PENETRATION AT MIDWIDTH

OF EXISTING WOOD PLATE

2

HURRICANE POSITION

SCALE: 3/8" = 1"

- WALL MOUNTING INSTALLATION & BUILD-QUT

— SECTION 4

EXISTING
GLASS

£Q FQ

N\

-~

L1
L]
/
% /
/] = S
¢ B
4 g
" 2 I
1 'i‘l
/L'"_I_JL'I — 315"
WOOD HEADER
REQUIRED

jo——SEE SCHEDULE ON SHEET-
8 OF 8 FOR MINIMUM
SEPARATION TO GLASS

1/4% 9 x I° LONG

LAG SCREWS @ §° 0. C.

W 1 1/2° Min. PENETRATION
7O EXISTING WOOD HEADER.

2% x 3 x 125" Cont
Alum, TUBE
(6063-T6 ALLOY)

f14 x 3/4" 5. 5.
5. M 5 060

Cent.

14 x 3/4°
S.5. S.M.S.

AN

-
L

4
4
4
4

Rzﬂu,;td A i

ALTERNATIVE 3

HURRICANE POSITION
SCALE: 3/8" = 1”

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

/
g ©
or Cont.
? ®
/]
4
¢ \
] O
@ EACH JAMB &
/] 1/4" #-20 e MULLION LOCATION
THUMB SCREW

NOTES

1.

2. NEW 2% x 6™ P T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH
J. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN

INSTALLATIONS ARE ONLY VALID FOR INSTALLATIONS WITH DESIGN WIND LOADS
LESS OR EQUAL THAN +62.0, —-75.0 p.s.f. AND Max. SHUTTER SPAN AS

PER SCHEDULES ON SHEET 8 OF 4.

19 % M. M. C. W/ SPECIFIC DENSITY OF 0.55,

PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EOQUAL.

|

1/4" 8-20 BOLT W/NUT

4 / \
Woop _STup

Q@ 24" 0. C
REQUIRED

(1) 1/4" @ x 3 LAG SCREWS @
EACH STUD (MIDWIDTH OF STUD,
27 Min. NOMINAL) AND W/ 1 1/2" Min,

ALTERNATE OPEN POSITION DETAIL

PENETRATION INTO EXISTING STUD.

SCALE: 3/8" = 1”

FEB 14 2003

R

(2)
; \ BOLTS INTO
RINUTS EA,

1% x 1% x 125" Cant. Alum.
CLOSURE ANGLE (5083-T& ALLGY)
W/ 3/16° # Alum,_pPOP RIVETS
9 1270.c.ma

1/4° #-20 x 1° SIDE WALK
6) 1/4 920

2% x 3" Max. x .125" Cont Alum.
B. 0. TUBE (6083~T5 ALLOY)

1/4" 8 x 3° LONG LAG SCREWS
0670 C W/ 1 1/2" Min.
PENETRATION TO EXISTING WOOD

PLATE.
PRODUCT REVISED
as complying with the Florida
Buiding Code
AcceptanceNo 02-0274 .08
Expiration Date 0 X3
By .
Mianti DadeProduct Control
Division

F. B. C. (HV.HZ) / MIAMI—-DADE COUNTY

/ TILIEC O me. \

GARDENS,
(305)871-1531
ER-0006719
WALTER A. TILLIT Jr, P. E
FLORIDA Lic. § 44167

TILLIT TESTING & ENGINEERING COMPANY

T NW. J6th. St, Ste. 217, VIRGINA
. Phone : (J05)877-1530 . Fax :

FLORIDA 33168

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER | A5 240N
11/20/02
AWNINGS, SHUTTERS & SCREENS, INC. DATE
(ASSA # 35)
1631 5. DIXIE HWY. BLDG. D—-1
POMFANO BEACH, FLORIDA 33060 02-548
REV, Ne DESCRIPTION OATE REY. Na DESCRPTION ATE DRAWING No
' o S8 - 220 |11/20/02] ;1 - - SHEET & OF
; - - 8 -




— 2 e woop smps— RN NSSNNT ALY
REQUIRED @
WOOD TRUSSES OR RAFTER L] 2" x 4" WOOD STUDS — |
; © 24° 0. C. REQUIRED (Tye.) ™ f(?EOXU)IRED O CORNER | ™
(2) 1/4" # ELCO famale ] Typ. i
% \ PANELMATE W/ | 7/8" Min. T d
PENETRATION
/] ——'—’TA\‘ " 2) 1/4° # ELCO female
% —D) con. Y167 # POP RIVET @ . o el W/ 1 7/8" Min. - fin
6" 0. C. (1 PER BLADE) 2" Din. ENEATON 2° M.
v d - . © REAR ONLY —_—
] 2° Min /—@ Cant. . 5% x 3/16" Min. N
a4 % 7= i Z ?lum. PLATE Con)t. y OR
WOOD HEADER i L 6063-T5 ALLOY) W,
REQUIRED ] /_@ Cont LN (2) 5/16” # x 3* L4G oR
| F——H‘I 34— : T SCREWS TO EACH JOIST.
LOCATE SCREW AT —
cont —/ - Cont.| MIDWIDTH OF EXISTING
/ - /“‘(E) ont. {1y WooD ueuasn)(z'/uin. = ) 7
1/4" # x 3TAC — . 5. S M S /————-@ cont.| NOMINAL WIDTH) W, -3/4° -
AR P oo o 2" Min. PENETRATION. vl 4 e e '(’,OP,,E';;M;M’DE)
W/ 1 1/2° Min. © REAR ONLY
PENETRATION 0R®
. (2) 1/4° #-20 RIVNUTS W 2" x 3 3/16° (Max.)
. (Z) 1/4 9-20 x 1 1/2" 5. S. x 1/8" CLOSURE
g fried ,ro’/é)oﬁé@ @ M. S @ 3°0. C VERTICALLY Alurn. ANGLE (Cont.)
\@ or @ s W/ 1/2" EDGE DISTANCE
- OR (2) #10 x 1 1/2" 5. &S.
—(D *r (D) £10x11/2 S. M. S. TOP & BOTTOM
~—SEE SCHEDULE Cont cont = R ?'0 S@%RM@S' (Typ. AT EACH BRACKET)
ER AL L Fiyicat | :
FOR MINIMUM S ePRATIOT MINMLUM 3 i (2) 1/47 8-20 RIVNUTS W/
i s ; LEVBa /@ | PIaiRe s
T0 GLASS , . M. S S, . C. .
i g SECTION A-A o W/ 1/2" EDGE DISTANCE
s N 1 410 x 1 1/2" OR (2) #10 x 1 1/2" S. S.
. ) 3 4 (1) or @ L9075 S. .M. S. TOP & BOTTOM
£ ¥ o (WALL MOUNT)  scalE : 1/4" = 1” 0 DorQ® (Typ- AT EACH BRACKET)
ant. .
- 1/4" 8~20 RVNUT @ 9" 0. C.
/@ Cont. Cont W 1/4° n—za( x2°5. 5. M S
- FULL LENGTH (LOCATE ALWAYS .. —
—— | AT LEAST TWO 8OLYS 1 AT EACH 2° x 4° WOOD STUDS SECTION B-B
—A— Cont: | 1 4" a-20 RIWNUT @ 9" 0. C. @\ ’ SIDE OF INTERIOR MULLION, SEE ’(?7’5;,%”"50 @ CORNER
Wy 14" 4-20 % 2°S. S WS | gour Lavoun) S £ OF 8 ' (WALL MOUNT)  ScALE : 1/4" = 1"
@\ FULL LENGTH (LOCATE ALWAYS (2) 1/4" =20 x 2" 5. S. G :
AT LEAST TWO BOLTS 1 AT EACH Lﬁ : M s wy 7/8" x 3/32"
SIDE OF INTERIOR MULLION. SEE ; . s WING NUT @ 3" 0. C.
I g ELEVATION ON SHEET 4 OF 8 FOR  § | e pen OR DECK VERTICALLY W/ 1/2° EDGE SSRNSNSSNN
N BOLT LAYOUT) N /] DISTANCE TOP & BOTTOM N
N /~1— 2° x 6" WOOD DECK = 7 (Typ. AT EACH BRACKET)
- REQUIRED
] 141 L ' /r-
I —] — > .
3/4"
TN D@ [
_’,_j \ | 1/4” @-20 ELCO female )1
1/4° 8~20 ELCO famal PANELMATE @ 6 0. C. W/ 1 7/8" 7 ~sSs S
P{NELMATE o 5° ofmg GW/ 1 7/8" Min. PENETRATION INTO WOOD DECK 2’&’5”’% @’c{gd S 3
Min. PENETRATION INTO WOOD DECK -
x‘—.-___-
(2) 1/4" d ELCO female l
PANELMATE W/ 1 7/8° Min.
ALTERNATIVE 4A ALTERNATIVE 48 PENETRATION |
SECTION G—-G PRODUCT REVISED
as complying with the Florida
FLOOR/CEILING MOUNT, g Acecpiance No
FLOOR/CEILING MOUNTING INSTALLATION (FLOOR/CEILIN ) SCALE : 1/4" = 1 poccptanceNo 30404 08

— SECTION A4

SCALE: 1/4" = 1”

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

1.

NOTES

INSTALLATIONS ARE ONLY VALID FOR

LESS OR EQUAL THAN +62.0, —-75.0 p.a.f. AND Max. SHUTTER SPAN AS

PER SCHEDULES ON SHEET 8 OF 8.

2. NEW 2% x 6" P. T. TO BE SOUTHERN FINE No. 2, SURFACED DRY WITH
19 T M. M. C. W/ SPECIFIC DENSITY OF 0.55.

3. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

INSTALLATIONS WITH DESIGN -WIND LOADS

@ag?@tgg

FEB 1 4 2003

Division

F. B. C. (HV.HZ) / MIAMI-DADE COUNTY

/ |IL|ECOmc.\

Phane :
.

TILLIT TESTING & ENGINEERING COMPANY

NW. 38N, St Ste. 217, VIRGINA
(30538711530 . Far : (105)871-1531

WALTER A, TILLIT Jr, P. E !
FLORIDA Lic, # 44167 2

FLORIDA 33166

ER—-0006719

AS SHOWN

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER SCALE
11/20/02

AWNINGS, SHUTTERS & SCREENS, INC. DATE

(ASSA # 35)
1631 S, DIXIE HWY. BLDG. 0-—1
POMPANG BEACH, FLORIDA 33060 09—-548
REV. Mo GESCHFTION DATE | PEV. Me DESCRPTION 3 DRAWING No
M”__ = 11/217/02{ j : : SHEET 7 OF &




SCHEDULE # 1

MAXIMUM SINGLE UNIT FOR A CORRESPONDING DESIGN PRESSURE AND MOUNTING TYPE

SINGLE _UNIT ELEVATION

CASE It :

TRAPPED TOR/BOTTOM

CASE | : WALL + WALL MOUNT
OR TRAPPED AT SIDES + SIDES (SHI 5 0F 8)
(SHEET 2 OF &) -
BAHAMA SIDE BRACKET SIDE smcxrr
TYPE ALTERRATE SIDE ‘[ \‘[
BRACKET ———— < 3
S N
— ] -
DESIGN .
MAXIMUM SPAN (]
PRESSURE SPA L™ (IN)
RATING (p.3.f.) ' paxmum umr MINIMUM SEPARATION
AND CASE F WIDTH "W* (IN) W/0 SIDE BRACKET W/ SIDE BﬂACKEr TO GLASS (IN)
CASES | & Il
+56.0 , —-63.0 42" 52" N/A 3 1/8"
CASES | & Il
+75.0 , -100.0 42" N/A 96" 2 1/8"

SCHEDULE # 2

SCHEDULE # 14

MAXIMUM MULTIPLE UNIT FOR A CORRESPONDING DESIGN PRESSURE AND MOUNTING TYPE

CASE | mu. + WALL MOUNT MULTIPLE UNIT ELEVATION CASE I : go
OR TRAPPED AT SIDES + swfs(sn 5 OF 8)
(SHEET 2 OF 8) cceis ices
@ or @—_| @ or
SIDE BRACKET SIDE BRACKET
BAHAMA P} —~ . Mp.). I}
SHUTTER !
—UNLMITED — WLJHI;D- —
OF UNITS OF Ul
DESIGN MAXIMUM SPAN *L" (IN)
PRESSURE
RATING (p.s.t.) | waxmum umir INTERIOR MULLION  |MINIMUM SEPARATION
AND CASE § WiDTH “w= (N) | W/0 SIDE BRACKET | W/ SIDE BRACKET TYPE REQUIRED TO GLASS (IN)
CASE. | .
+50.0 , -43.3 36 1/2" 72 172" N/A Al 2 1/2
CASE |
+62.0 , —-75.0 36 1/2% N/A 83" A2 2 38"
CASE 1l .
+62.0 , ~75.0 36 127 N/A 84" A2 2 38

LIMITATIONS FOR SINGLE AND MULTIPLE UNITS BAHAMA SHUTTER'S UNIT WIDTH (IN), SPAN L (IN) AND

CORRESPONDING MAXIMUM DESIGN PRESSURE (p.s.f.) FOR THE INSTALLATION OF SIDE & SILL BRACKETS

INTO CONCRETE & MASONRY BUILDINGS BY MEANS OF (2) 1/4” @ x 7/8” CALK—IN ANCHORS *

MAXIMUM NEGATIVE SINGLE UNITS MULTIPLE UNITS DESIGN PRESSURE SINGLE & MULTIPLE UNI7§'
DESIGN PRESSURE SIDE & SILL BRACKETS ** SIDE & SILL BRACKETS »« RATING (p. s. 1.) TOP & BOTTOM TO CbNCREfE
RATING (P_g.f.) TO CONCRETE 70 BLOCK TQO CONCRETE TO BLOCK
Max, ‘W Max., "L Max. "W Max. L™ Max. W" Max. "L" Max. “W* Max, " ALL PRESSURES COVERED o o c
~55.7 42" 96" 42" 96" 36 1/2" 84" 36" 84" IN SCHEDULE # 1 & f 1A T
" » u " . " J6° 72"
-65.0 42 g6 42 96 36 1/2 84 37" 84" *¥kK orr SHEETS 6 & 7 OF 8 FOR ANCHOR SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS.
” " M » - v 36 1/2" 62"
75.0 42 96 42 96 36 1/2 83 27" 3"
. . » " ‘ PRODUCT REVISED
-83.0 42 96 42 96 N/A N/A N/A N/A as complying with the Florida
Buiding Code
_ . - 42* 63 Acceptance No ©
100.0 42 96 357 >3 N/A N/A N/A N/A Expiration Dyt 08
BRACKETS FOR INSTALLATIONS INTO WOOD. SEE SCHEDULES # 1 & # 1A FOR SHUTTER SIZE. llt;'ly
liahi Da uct Control

*xk

FOR ELCO PANELMATES ((2) 1/4° @ W/ 1 7/8" PENETRATION) USED AT SILL & SIDE |

IN ANY CASE, MAXIMUM "W" & '"L* VALUES W/ CORRESFPONDING DESICN LOADS SHALL NOT EXCEED MAXIMUM VALUES INDICATED ON SCHEDULES # 1 & 1A

Com “”@\@s

SCHEDULE # 3
MAXIMUM ANCHOR SPACING AT TOP FEMALE HINGES B, © ., OR @ AS

WELL AS SILL ANGLE @ AT BOTTOM (AS APPLICABLE) FOR INSTALLATIONS
INTO POURED CONCRETE HEADERS AND SILL %=

F. B. C. (HV.HZ) / MIAMI-DADE COUNTY

AS SHOWN

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER SCALE

FEB 14 2003

11/20/02
I I AWNINGS, SHUTTERS & SCREENS, INC. DATE

IL ECOINC' 31 S. gA;/?H{WJséLDG D~1
1631 S. D . . O~

TILLIT TESTING & ENGINEERING COMPANY POMFANO BEACH, FLORIDA 33060 02548

O i s RO CARENS, FLOROM 33166 DRAWING N

Phone : (3 EB—-0006719. REV. Ne DESCHATION DATE | PEV. Ne DESCRIPTION 2ATE °

WALTER A. TILIT Jr., P. E. ! D sa - 220 pi/ao/02) 3 - —| SHEET 8 OF 4

- 4 -

FLORIDA Lic. # 44167 2 -




